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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

To “maximise” a window meansto

Options :

1. # fill it to capacity

2. ¥ expand it to fit the desktop

3. ¥ put only like files inside

4. # drag it to the Recycle bin
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
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Question Number : 2 Question Id : 2549896379 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A/an _____is a pre-written formula that performs calculations automatically in MS Excel.
Options :

1. ¢ function

2. * equation

3. # template

4. % chart
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: N.A Think Time : N.A Minimum Instruction Time : 0
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Options:

1. ¥ Ther™E

2. % gHtepor

3. ¥ gl

4. % &
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: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

PDF is a file format that stands for _____.

Options :

1. % Pre Defined Format

2. % Portable Device Form



3. * Pre Document Fix

4. ¥ Portable Document Format
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: N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

1. ¥ 1ff flSwgs wide (Pre Defined Format)

2. ® yidae feargyg wid (Portable Device Form)

3. ¥ 1t SiergHe ftherd (Pre Document Fix)

4. ¥ qidee SlegHe thide (Portable Document Format)

Question Number : 4 Question Id : 2549896577 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.AThink Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The language that a computer can understand and execute is called:
Options:

1. % a machine language

2. * a high-level language

3. ¥ an english language

4. # an assembly-level language
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Options :

1. ¢\l o

2. ¥ I=g WG AT

3. % it AT

4. % QTS TRIG |1

Question Number : 5 Question Id : 2549896853 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The serves as a single platform to connect all of the parts of a computer together.

It connects the CPU, Memory, Hard drives, Optical drives, Video card, Sound card, and other parts.

It also connects Expansion cards directly or via cables.
Options :

1. % Motherboard

2. ¥ RAM

3. ¥ ROM

4, # Graphics card
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Options :
1. ¥ HEEE



2. ¥ RAM
3. * ROM
4. % 7iftheg 1S

Question Number : 6 Question Id : 2549896892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following system calls is a Communication System Call in Windows OS?
Options:

1. #® read()

2. ¥ CreatePipe()

3. # SetConsoleMode()

4. % joctl()

Question Number : 6 Question Id : 2549896892 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fAferdla & @ sie a1 e i Windows OS # Tes €9R HoTTett it (Communication System Call) 82
Options :

1. # read()

2. ¥ CreatePipe()

3. # SetConsoleMode()

4. % joctl()

Question Number : 7 Question Id : 2549896930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



ASCII value of 'D'
Options:

1.4 68

2. % 65

3. % 67

4. % 69

Question Number : 7 Question Id : 2549896930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

'D' AT 3ATERT (ASCII) IS RT3 ?

Options:

1.4 68

2. % 65

3. % 67

4. % 69

Question Number : 8 Question Id : 2549897094 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The OSI, (Open Systems Interconnection), model consists of _____layers.
Options :

1.% 3

2. % 2

3.%4

4.7

Question Number : 8 Question Id : 2549897094 Question Type : MCQ Option Shuffling : Yes



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :
1.% 3
2. % 2
3.% 4

4.7

Question Number : 9 Question Id : 2549897704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What is the Binary equivalent of given Decimal number?

(64)10=(__7_)2
Options :

1. ¥ 100000

2. # 10000

3. + 1000000

4. % 10000000

Question Number : 9 Question Id : 2549897704 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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(64)10=(_7_)

Options :



1. * 100000
2. * 10000
3. % 1000000

4. % 10000000

Question Number : 10 Question Id : 2549897760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A digitizing tablet can be used for:

Options :

1. # printing letters

2. ¥ tracing diagrams

3. ¥ reading bar codes

4. % printing images

Question Number : 10 Question Id : 2549897760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % g BUTE

2. ¢ R &1 AR

3. % §R s U

4. % fagi & Wi

Question Number : 11 Question Id : 2549897868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

What is the value of the following MS-Excel function?

=FLOOR(134, 19)

Options :

Question Number : 11 Question Id : 2549897868 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

fA=fafaa MS-Excel thaE &l A9 T 272

=FLOOR(134, 19)

Options :

Question Number : 12 Question Id : 2549897886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Ris an open-source programming language that is widely used as a statistical software and data

analysis tool.

Who among the following is also known as one of the developers of the R Language?



Options:

1. % Ross [haka
2. % Bill Gates

3. # Steve Jobs

4. * Sabir Bhatia

Question Number : 12 Question Id : 2549897886 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 39 sgem

2. * o fem

3. ¥ g Sifed

4. % gdR wrfean

Question Number : 13 Question Id : 25498929711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following memory types is volatile?
Options :

1. ¥ RAM

2. * ROM

3. * FLASH



4. % EEPROM

Question Number : 13 Question Id : 25498929711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ RAM

2. % ROM

3. # FLASH

4. % EEPROM

Question Number : 14 Question Id : 25498929883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

DLL stands for:

Options :

1. ®# Dynamic Logic Library

2. ¥ Dynamic Link Library

3. #* Double Link Library

4. * Dynamic Logic Level

Question Number : 14 Question Id : 25498929883 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
DLL (SIuetue) ot 31 &:

Options :



1. ¥ S-S dffeler A™Iskt (Dynamic Logic Library)
2. ¢ SrAfAes foieh st (Dynamic Link Library)

3. % Eqd feieh @It (Double Link Library)

4. % AT difele otaet (Dynamic Logic Level)

Question Number : 15 Question Id : 25498934231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following device is used to store data?
Options :

1. * Mouse

2. ¥ Floppy disk

3. # Monitor

4, # Keyboard

Question Number : 15 Question Id : 25498934231 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. * 4139
2. ¥ Tl fewn
3. ¥ AifAxR
4. ® HAOS

Question Number : 16 Question Id : 2549898155 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

__is NOT an example of an access control system.
Options:

1. % Information kiosk

2. * Finger print scan

3. # Retina scan

4. % Voice recognition

Question Number : 16 Question Id : 2549898155 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ AT (3R fohaten

2. % fthiRftic @b

3. ® AfeAr T

4. % 3rarst uga (aisg RepliE)

Question Number : 17 Question Id : 2549899603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following printer uses ribbon for printing?
Options :

1. * Laser printer

2. % Inkjet printer

3. # 3D printer

4. % Dot matrix printer



Question Number : 17 Question Id : 2549899603 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ doR iR

2. ¥ gapoie fi®

3. ¥ 3@ fi®

4. ¥ <fe Ay fiieR

Question Number : 18 Question Id : 25498910773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an output device?
Options:

1. # Laser printer

2. * Inkjet printer

3. % Scanner

4. ® LCD display

Question Number : 18 Question Id : 25498910773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ doR iR

2. ¥ gapoie fi®



3. ¥ &R
4. % il fewa

Question Number : 19 Question Id : 25498911210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Find 1's complement of binary number (10101110);:
Options:

1.+ (01010001),

2. # (11100000);

3. # (01010000),

4. % (11010001),

Question Number : 19 Question Id : 25498911210 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1.+ (01010001);

2. # (11100000);

3. # (01010000);

4. % (11010001),

Question Number : 20 Question Id : 25498913413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

compression is a data compression method that sacrifices some information to achieve an



even smaller file size than lossless compression.
Options:

1. % Lossy

2. % Lossless

3. * Nosiy

4, = Data

Question Number : 20 Question Id : 25498913413 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. ¢ qrdt
2. ¥ Argeg
3. % gt

4. % 1

Question Number : 21 Question Id : 25498913930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which network command is used to show the state of all the sockets?
Options :

1. # netstat-s

2. % netstat-r

3. ¥ netstat-a

4. # netsta-A



Question Number : 21 Question Id : 25498913930 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. # netstat-s

2. % netstat-r

3. ¥ netstat-a

4, # netsta-A

Question Number : 22 Question Id : 25498918459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following refers to executing multiple jobs by the CPU, simultaneously by switching

between them?
Options :

1. # Interactivity

2. % Spooling

3. ¥ Batch processing

4. ¥ Multitasking

Question Number : 22 Question Id : 25498918459 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® SrRichanefterdr (Interactivity)



2. % e (Spooling)
3. # o9 Ui (Batch processing)

4. ¢ §g St (Multitasking)

Question Number : 23 Question Id : 25498918470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is FALSE with reference to the Solid State Drive (SSD) storage devices?
Options :

1. ¥ These are magnetic storage devices.

2. ¥ They use a type of flash memory called NAND.

3. * SSDs work faster and smoother than Hard Disk Drives.

4. # They generally last longer than Hard Disk Drives.

Question Number : 23 Question Id : 25498918470 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¢ 3 IR TR IUHT & |

2. % g NAND ST Tch UehR chl GIRT BHIRY bl IUTNT il &

3. ¥ SSDs, gTs &%k g13d &l a1 | d9T 3R A €U 9 (TYU) HHE Hdl gl

4. % 3 W IR W T8 &% g13a T 31l GHg dah Teid 8

Question Number : 24 Question Id : 25498918553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Preventing unauthorised access to programs and data refers to which of the following functions of

the Operating System?

Options :

1. ®* Control over system performance
2. % Device Management

3. # File Management

4. ¥ Security

Question Number : 24 Question Id : 25498918553 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
T 3R 31 dh 3Hfdgd Ugd (unauthorised access) af AT, TRIET feen & F=feifea & @ forg wrf &t
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Options:

1. ¥ fd%ed & yaiH R AT (Shgle siter Rieed .ReikAY)
2. % feargy Adsme

3. % thigel AASTHC

4. « Zer (ReiRe)

Question Number : 25 Question Id : 25498919275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following MS-Excel tools is used to fill data with a specific pattern?
Options :

1. ¥ Macros

2. * Vlookup

3. * Pivot table

4. % Fill handle



Question Number : 25 Question Id : 25498919275 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fAfafEa & 9 w=-a1 MS-Excel ¢d, U fafre g & ary Se1 WA & forg Iuai forar irar 82

Options :

1. ® AeplsT (Macros)

2. % dficensy (Viookup)

3. # foge qrferant (Pivot table)
4. + &1 gsd (Fill handle)

Question Number : 26 Question Id : 25498919315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a browser?

Options :

1. % Chrome

2. # Internet Explorer

3. * Opera

4. ¥ Bing

Question Number : 26 Question Id : 25498919315 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. % @9 (Chrome)



2. ¥ 3e3e YRR (Internet Explorer)
3. # 3T (Opera)
4. « &1 (Bing)

Question Number : 27 Question Id : 25498919368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following information about a file is NOT contained in a file system?
Options :

1. % Size of the file

2. * File attributes

3. * File location

4. ¥ Operating system structure

Question Number : 27 Question Id : 25498919368 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ WIS ohl 3R (Size of the file)

2. ® wrse Ofesged (File attributes)

3. ¥ tgd &1 WH (File location)

4, ¢ AToRfdT ffes 3@ (Operating system structure)

Question Number : 28 Question Id : 25498922678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In terms of Computers, FAT stands for:
Options:

1. ¢ File Allocation Table

2. * First Allocation Table

3. * First Allocation Task

4. * File Allocation Task

Question Number : 28 Question Id : 25498922678 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

chege o daaf F, FAT ot oref 2:

Options :

1. ' ThISeT TAThRE cae

2. % i UAIhH o

3. % ¥ TAThRH %h

4. % TRI3e UeAIche Teh

Question Number : 29 Question Id : 25498924436 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A computer gives consistent results for similar set of data i.e., if we give same set of input any

number of times, we will get the same result.

The characteristics of a computer described in above statementis
Options :

1. % Accuracy

2. * Diligence

3. * Versatility



4. + Reliability
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Options :

1. % uRergar (Accuracy)

2. ® spuadr (Diligence)

3. ¥ ggfasar (Versatility)
4.  fagg-iaar (Reliability)
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When the system starts from initial state i.e. it is switched on, we call it ______
Options :

1. * magic booting

2. % warm booting

3. * soft booting

4.+ cold booting
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Correct Marks : 1 Wrong Marks : 0

Sie % URfes SraeT 9§ S gial @ I 39 <] fohan ST 8, Y gH 38 ahed 8l
Options:

1. ¥ AfSes gfen

2. ® g g

3. ¥ giwe gfén

4. ¢ ples g
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The vast network of computers that connects millions of people all over the world iscalled ___
Options :

1. % LAN

2. # Windows

3. * Hypertext

4. ¥ Internet
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Options:

1. % & (LAN)

2. ¥ fdsSisT

3. ¥ gRWRIRT

4, ¥ e
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Which of the following is an example of a valid e-mail address?
Options :

1. # http://vianet.com/index.htm

2. * D:\\Email\Standard

3. ¥ joesmart@billme.com

4. # Chaminade.org/teachers/mail addresses
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Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

fAmfefEa d & ol 41 $-A, Ueh A1 (valid) $-A Ud 1 IS8T 87
Options:

1. # http://vianet.com/index.htm

2. * D:\\Email\Standard

3. ¥ joesmart@billme.com

4. % Chaminade.org/teachers/mail addresses
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a Web browser?

Options :

1. % 7Zip

2. ¥ QOpera



3. #* Yahoo!

4. % Gmail
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Options :

1. % 7Zip

2. ¥ Opera

3. # Yahoo!

4. % Gmail

Question Number : 34 Question Id : 2549896525 Question Type : MCQ Option Shuffling : Yes
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DNS is responsible for converting a domain name into (a/an) _____
Options:

1. % Binary string

2. % Alphanumeric string

3. ¥ [P address

4, # Hexadecimal string
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Options :

1. % g are g
2. % IethrgARe &
3. ¥ IP ged

4. % gorareflme e
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What is the output of the given MS-Excel Formula, if the contents of the cell B25 is "A Lorem

Ipsum Lorem  Text"?

=TRIM(B25)

Options :

1. % A Lorem Ipsum Lorem Text

2. % A Lorem Ipsum Lorem  Text
3. * A Lorem Ipsum Lorem Text

4. % ALoremIpsumLoremText
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fdQ g MS-Excel GIHT &1 3M3YE T 8, afE d B25 hrdeg @, "A  Lorem Ipsum Lorem  Text"?

=TRIM(B25)
Options :
1. ¥ A Lorem Ipsum Lorem Text

2. % A Lorem Ipsum Lorem  Text



3. % ALorem Ipsum Lorem Text

4. % ALoremIpsumLoremText
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What is the key combination to repeat the last "Find" action in MS PowerPoint?
Options :

1. % SHIFT+F5

2. ¥ SHIFT+F4

3. % SHIFT+F3

4, % SHIFT+F2

Question Number : 36 Question Id : 2549897472 Question Type : MCQ Option Shuffling : Yes
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MS PowerPoint # 3ifdH "hIEs" SRATS i &g o forg Soft Tats i 82
Options:

1. % SHIFT+F5

2. ¥ SHIFT+F4

3. % SHIFT+F3

4. % SHIFT+F2

Question Number : 37 Question Id : 2549897480 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

During a slideshow, what is the key combination to change the pointer to an eraser in MS



PowerPoint?

Options:

1. % ALT+P+E
2. ¥ CTRL+E

3. # ALT+E

4. % CTRL+P+E
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Options :

1. % ALT+P+E
2. ¥ CTRL+E
3. % ALT+E

4. = CTRL+P+E
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Which of the following is NOT a valid category of Bar chart in MS Excel 2019?
Options :

1. # Clustered

2. ¥ Area

3. * Stacked

4. % 100% stacked
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Options :
1. ¥ RIS
2. ¢ gRan
3. ¥ Yas

4, % 100% WFs
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In MS-Excel, (a/an) chart is a type of chart in which a circle is divided into sectors such that

each sector represents a proportion of the whole.
Options :

1. % Column

2. % Scatter

3. ¥ Pie

4. % Line
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MS Excel &, (a/an) _____ dT¢ Uch UahR ohl TT¢ & fST9H Ueh Tehel ahl Tl | 39 dvg faurfoid foear sirar & fop
g YeX I (whole) & 3UTd (proportion) et gfafafae ehar 1

Options :

1. % i (Column)



2. % Thex (Scatter)
3. ¢ UTg (Pie)

4. % &rsd (Line)
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Which of the following statements about MS Excel is FALSE?
Options :

1. % MS Excel file is called workbook.

2. ¥ Aworksheet contains many cells.

3. * Aworkbook contains multiple worksheets.

4. ¥ A worksheet cannot be renamed.
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Options :

1. ® MS Excel ThI3eT <t deheeh gl SITdT & |
2. % Uh gopRiic d s A gid &
3. ¥ Qoh gheldh A s aohefie gid 81

4. + Uk genfic T AT 81 ST ST Jehdl gl
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In MS Excel, a worksheet that only contains the Excel chartis calledas ____ sheet.
Options:

1. % chart

2. ¥ line

3. #® pie

4. % radar
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Options :

1. ¢ 41é

2. % orgd

3. % U

4, #® TSR
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Fill the ? with suitable option.

Here is the path to change a given sentence into lower case in MS Word 2016.

Home - ? - Change Case - lowercase
Options :
1. % Font

2. ® Paragraph



3. * Styles

4. # Editing
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Home - ? - Change Case - lowercase
Options :

1. Font

2. ® Paragraph

3. * Styles

4. % Editing
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Which of the following option is used to change an MS Word document from Landscape view to

Portrait view or vice-versa?
Options:

1. # Change case

2. ¥ Orientation

3. #* Clipboard

4. % Wrap text
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Options:

1. % IS g

2. ¢ INRueH
3. ¥ fomuete
4, ¥ qudaee
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Sunil applied "first line" indent, then the first line of a paragraph is indented the other lines

in the paragraph.
Options :

1. ¥ more than
2. * less than

3. ¥ equal to

4. # |ess than equal to
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Options :

1. ¢ 4 31fde




2. 8 gy
3. ¥ & RR

4, ® IR T HH
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How to set space between paragraphs in MS Word?

Options :

1. % Right click - Font group - indents and spacing

2. ¥ Right click - Paragraph - Indents and Spacing - In Spacing, enter the measurements
3. * Left click on paragraphs

4. % You cannot set space between paragraphs
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MS Word # BRI & offr W &l e oid 8?

Options :

1. % 73¢ feReTen - I U - SS9 Us WG

2. ¥ T foRAeh - IR - $S¢H U WA - 39 WA, TR & AR
3. ¥ RUTh IR AR foeTen oA

4. % 30 WRMTH & &g WY e gl h Fohd
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What is the definition of find & replace?
Options:
1. * Where you find.

2. ¥ In a document when you wish to search some particular word and then replace that word

with new one.
3. ¥ Replace your text only.

4. * In your document where you can find your desired content but unable to replace.
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Options :

1. ¥ 319 S5 BIES &hd

2. ¢ Uoh Slagrc # 519 3T §o AN 21ec ot I dheT I18d & SR a1G | 39 2065 i Tob -IY 2765 § Fael-T 97gd &
3. ¥ heel 37U TR ehl UfAATIUT e |

4. % U SlegHT H 1T YT gifesd Tt eht T &R Terd & Uig I&er H gAY g1
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To turn off automatic capitalization in the older versions of MS Word (e.g. MS-Word 2003), below

are the steps. Arrange them in a proper order.

a) AutoCorrect Options.

b) Go to Tools.

¢) Click OK.

d) On the AutoCorrect tab, deselect the 'Capitalize First Letter Of Sentences' check box.

Options :



1.4 Db,a,d, c
2. % Db,a,c¢cd
3.% Db,d,a,c

4. % b, c,d, a

Question Number : 47 Question Id : 25498911462 Question Type : MCQ Option Shuffling : Yes
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MS Word & QR S&h0Tt 7 (e.g.,MS Word 2003) Td: Sfieargsiz i 6 e & fag, i fdg 7g wror €
38 Ueh 3fd shi § afAd il

a) AutoCorrect faseq|

b) Tools R G|

c) OK faretah 1|

d) AutoCorrect ¢ W, 'Capitalize First Letter Of Sentence' T Ik sic hl T TE, PR
Options :

1.¥Db,a,d,c

2. % Db,a,¢d

3.% b,d, a,c

4. % b, c,d, a
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In MS Excel, shows items from different row area fields in one column and uses indentation

to distinguish between the items from different fields.
Options:
1. % Compact Form

2. * Design Form



3. # Tabular Form

4. % Qutline Form
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Options :

1. ¢ SiFee hiH
2. % fSSITgd wid
3. ¥ IR BiH

4. ¥ IICATST HhiH
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In PivotTable, if we drag a field to the Row area and Column area, we can create:
Options :

1. % 2-dimensional PivotTable

2. * Rows

3. ¥ Graphs

4. * Charts
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fUge 39 d, afe g fonddt hice &) 3 &9 (Row area) iR & &7 (Column area) A A & algq o1
qehd &

Options :

1. ¢ 2-SrHd fUae ¢aa

2. % 3197 (Rows)

3. ® g

4, % TrEg
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Which of the following is a keyboard shortcut for redo when using MS Word application?
Options:

1. % CTRL+Y

2. % CTRL+V

3. # CTRL+Z

4. % CTRL+W
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Options :

1. % CTRL+Y

2. # CTRL+V

3. % CTRL+Z

4. = CTRL+W
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Which of the following is NOT correct with respect to videoconferencing?

Options :

1. # Videoconferencing is a communication tool for those placed at different locations.
2. ¥ Videoconferencing does not save time.

3. ¥ Videoconferencing can be used by the students to attend academic session at distant

location.

4. # Presentation or other visuals can be shared with everyone attending the conference at the

same time.
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Options :
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application is used to create presentations and share slides.

Options :



1. #= MS Access
2. ¥ MS PowerPoint
3. ¥ MS Word

4. % MS Excel
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Options :
1. # MS Access

2. % MS PowerPoint

3. ¥ MS Word
4. % MS Excel
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Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¢ BRI

2. ¥ g qrfaa
3. ® gt anfdat
4. % fray

Question Number : 54 Question Id : 25498921051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % <Yt ol 58 @rd da@r o

2. ¥ 39 13T hl A Y gl AT o

3. ¥ 39 3ol 9 Whid | Ateniud foha o

4. % IOt AT ch SR IATSUhIH ohl 3MTg foram o7

Question Number : 55 Question Id : 25498921052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 25498921053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 57 Question Id : 25498921054 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® Lfergsr
2. % getem

3. % Thel

4. ¢ fSreifes

Question Id : 25498921049 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Calculator : None Response Time : N.A Think Time

: N.A Minimum Instruction Time : 0
Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.

Marco Polo

Hundreds of years ago, people started making summer desserts by taking sweet cream or custard



and cooling them with ice. People of Persia were the first to start making ice cream. They would

pour grape juice over ice and eat it during the hot summers.

Marco Polo, the famous traveller, first saw people eating ice creams in China. He brought the food
to Italy. A hundred years later the taste of ice cream was carried to France. At first, people tried to
keep the recipe of the ice cream secret so that only the rich people could enjoy it. They did not
want the common man to taste it. However, they could not keep it a secret for long. Very soon
people got to know about it and the delicious new food became popular. So, it spread all over the

world. In the initial years of its discovery, ice cream was called ‘iced cream’.

The first ice cream shop was opened in New York in the year 1776. It was first introduced in
London in 1777. The first ice cream plant was set up in Maryland, America, in 1851. However, the
real growth of ice cream business did not take place until after the year 1900 with new

developments about how to store it.

The basis of all ice cream is milk, sugar and at times eggs. Vanilla, berries, chocolate, fruits, etc. are
added to add flavour to it. In an ice cream usually, there is a lot of milk, sugar, flavour and
stabiliser to set it. A small amount of gelatine is also used to make it creamy. 250 grams of vanilla

ice cream has as much calcium as half a cup of milk.

Sub questions

Question Number : 53 Question Id : 25498921050 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Ice cream was invented by the __

Options:

1. ¥ Persians

2. * French

3. ¥ Italians

4. % Chinese



Question Number : 54 Question Id : 25498921051 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marco Polo’'s name is associated with ice cream because he
Options :

1. # had seen the Chinese eat it.

2. ¥ carried the idea from China to Italy

3. # popularised it in Italy and France.

4. *# |oved eating ice creams during his travels.

Question Number : 55 Question Id : 25498921052 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

There was good growth in the ice cream business only after theyear _
Options :

1. # 1776 when the first shop was set up in New York

2. # 1851 when the first plant was set up in Maryland

3. ¥ 1900 with new developments in storing methods

4. % 1777 when it was introduced in London

Question Number : 56 Question Id : 25498921053 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

People wanted to keep the recipe of ice cream a secret because ______
Options :

1. * most ingredients used in it were not healthy

2. ¥ they wanted it to be served only to the rich

3. # they did not want to popularise it



4. # they did not want to tell people that it had eggs

Question Number : 57 Question Id : 25498921054 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which ingredient is used to make ice cream creamy?

Options:

1. % Stabilizer

2. * Vanilla
3. * Fruits
4. ¥ Gelatin

QUANTITATIVE APTITUDE
Section Id : 2549896734
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
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Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 2549896775
Question Shuffling Allowed : Yes



Question Number : 58 Question Id : 25498914285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the approximate value of the given expression?

(Note: you are not expected to calculate the exact value)
(21.98)% — (25.02)% + (13.03)?

Options:

1.4 25

2. % 12

3. %10

4. % 65

Question Number : 58 Question Id : 25498914285 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
ffefEa e srgfaa gea s 82

(Fte: SATUY FEleh A <hl TTUTT Sh3 chl U g1 Sl STl 8)

(21.98)2 - (25.02)2 + (13.03)2 =?
Options :

1.4 25

2. %12

3. %10

4. % 65

Question Number : 59 Question Id : 25498914359 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the approximate value of the following?

(Note: you are not expected to calculate the exact value)

(13.001)3
Options :
1. % 1900
2.9 2200
3. # 2000

4. % 1800

Question Number : 59 Question Id : 25498914359 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
ffafEa e srgfaa gea = 82

(e 3T Gt AT Y TUMT S Y TAETT gl Y STt 8)
(13.001) 3

Options :

1 % 1,900

2 2,200

5 % 2,000

4 = 1,800

Question Number : 60 Question Id : 25498928844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the

following series.

12,12, 18, 36, 90, 270, ?
Options :

1.9 945

2. % 810

3. # 1080

4. % 1215

Question Number : 60 Question Id : 25498928844 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
f&q g foreneat & 9 g8 de gy st Refefed @ J usearae & (?) of afozenfia s g

12,12, 18, 36, 90, 270, ?
Options :
1.« 945
> = 810

5 % 1080

4 % 1215

Question Number : 61 Question Id : 25498928894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
13U TTY =etes &1 0 &1 i

[(5V7 +V7) x (47 + 8v7)] — (19)2 =2

Options:
1.« 143

5 % 134

Question Number : 61 Question Id : 25498928894 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the value of the given expression?
[(5V7 +V7) x (4v7 + 8V7)] — (19)2 =7
Options:

1.« 143

5 % T2V7

3 % 134

4. % ?Uﬁ

Question Number : 62 Question Id : 25498928943 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1
1.+ 26

Question Number : 62 Question Id : 25498928943 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From a well-shuffled pack of 52 playing cards, one card is drawn at random. What is the
probability that the card drawn will be a black king?
Options :
I
1.+ 26



Question Number : 63 Question Id : 25498928957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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5w e i
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4 v | AR S

Question Number : 63 Question Id : 25498928957 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A question is given, followed by three statements I, II and III. Identify which of the statements



is/are necessary to answer the question.

What is the area of a given right-angled triangle?

Statements:

I. The length of the hypotenuse is 5 cm.

I1. The perimeter of the triangle is four times that of its base.

III. One of the angles of the triangle is 60°

Options :
1. # Only statement II.

2. # Only statement III.

3. # Either statement II or III.

4. ¥ Both statements I and III.

GENERAL MENTAL ABILITY AND REASONING

Section Id :

Section Number :
Section type :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
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Question Number : 64 Question Id : 25498912857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Study the given series of elements (letter-number-symbol) and answer the question that follows.

Every two-digit number (given in brackets) is to be treated as single number.

2*856B9%$Q3E17RD4E£(13)U@K(18)A(14)P

If each of the letters in the above series of elements is given a value equivalent to its serial number

in the English alphabet, what will be the the sum of the consonants used in the series?
Options :

1. % 86

2.¥ 68

3. % 82

4. % 62

Question Number : 64 Question Id : 25498912857 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T U I IR & oh felq Tal (S7eR-TT-Udie) i Amfeifad $jaei o1 UaihT | Udeh &t $ichia T (s |
&1 7T3) ol Tk TT /AT ST A1

2*856B9%$Q3E17RD4£(13)U@K(18)A(14)P

g IURI<h ST o dcdl A ° TAeh 31&R i SISl quiHTAT & IGch shAieh o SRIeR A1 a1 Sirar &, dt sjagen d
UGk ST Sl TN AT §TT?

Options :

1. # 86

2.¥ 68



3. % 82

4. % 62

Question Number : 65 Question Id : 25498912870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Find out how many such pairs of letters are there in the given word each of which has as many

letters between them in the word as in the English alphabet.

PRESENCE
Options:
1. % One
2. % Two
3. ¥ Three

4. % Four

Question Number : 65 Question Id : 25498912870 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
f&d T e & @1eR) & 0 forat SR €, O @ Ul & ot I €1 @1erR € S sish gufarer & 39 = &2

PRESENCE
Options:
1. % U
2. %

3. ¥ =

4. % IR



Question Number : 66 Question Id : 25498918981 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In the following pair, find two words related to the words already given - one word for each of two

related pairs.

I: Ocean :: Stone : II

I. (1) Glacier (2) Lake (3) Continent (4) River
II. (A) Rock (B) Pebble (C) Granite (D) Mountain

Options :
1. % 1C
2. ¥ 2A
3. % 3D

4. % 4B

Question Number : 66 Question Id : 25498918981 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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I:A8MEONR ;: e : 11

I (1) =fAeR (2) 3fe (3) #eTEMT (4) &
I1. (A) 9 (B) shehs (C) UT3C (D) UeTS
Options :

1. % 1C

2.V 2A

3. % 3D



4. % 4B

Question Number : 67 Question Id : 25498919812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In a certain code language, if

‘A$B’ means ‘A is the mother of B’;
‘A#B' means ‘A is the father of B’;
‘A@B’ means ‘A is the husband of B;
‘A%B’ means ‘A is the daughter of B’,

then which of the following expressions indicates ‘H is the brother of N?
Options :

1. % H#R$D$N

2. ¥ N%F@D$H#R

3. ¥ N%F@D$H

4. = N%F@D%H

Question Number : 67 Question Id : 25498919812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Qe Afgd g wren F, afe
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'‘A#B' BT 1f & 'A, B fUar g';
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'A%B' &1 3f & 'A, BRI T B,



al Rafafea 7 @ l9-g1 st sia awarg o 'H, N T as 82
Options :

1. ® H#R$D$N

2. ¥ N%F@D$H#R

3. #* N%F@D$H

4. * N%F@D%H

Question Number : 68 Question Id : 25498920116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different.

Select the one that is different.
Options :

1. % Hertz

2. % Ampere

3. % Pascal

4. + Potential

Question Number : 68 Question Id : 25498920116 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ® g&3 (Hertz)

2. % oA (Ampere)
3. ¥ Ur&hd (Pascal)

4. " W1éfAaa (Potential)



Question Number : 69 Question Id : 25498927875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third word in the same way as the second word is related to

the first word.

Vegetable : Chop :: Body : ?
Options:

1. % Cut

2. ¥ Amputate

3. ¥ Peel

4. % Prune

Question Number : 69 Question Id : 25498927875 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1. % e
2. ¥ g
3. ® die

4, % T

GENERAL AWARENESS
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Question Number : 70 Question Id : 2549895252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1. ¥ 3fenfie ddut & fag

2. ¢ 3ffenfires z1orar & fag
3. ¥ oY Il h faehrd o forg
4. % dfchT & H# gUR o feig

Question Number : 70 Question Id : 2549895252 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Omkar Goswami Committee was set up by the Government of India for examining the issue of:
Options:

1. #* industrial relations

2. ¥ industrial sickness

3. #* growth of small-scale industries

4, # reforms in the banking sector

Question Number : 71 Question Id : 2549899796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Match list-I with list-II and select the correct option using the given codes.

List-I List-II

A. Socialist Party 1. CR Das

B. Communist Party|2. Ram Manohar Lohiya

C. Swaraj Party 3. Lala Hardayal

D. Ghadar Party 4. PC Joshi

Options :

1.% A-2, B-4,C-1,D-3
2. % A-3,B-4,C-1,D-2
3. ¥ A-2,B-1,C-3,D-4

4. % A-4, B-3, C-2, D-1

Question Number : 71 Question Id : 2549899796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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B. BRI Urdl|2. I AAgR difgan

C. @RISTUTE |13, STl 83eaTe

D. ez uref 4. 4t Y. siisft

Options :

1. ¥ A-2, B-4, C-1, D-3
2. % A-3,B-4, C-1,D-2
3. % A-2,B-1,C-3,D4

4. % A-4,B-3, C-2, D-1

Question Number : 72 Question Id : 25498912527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ HR

2. % mifaa

3. ¥ o8

4., % HfRArw

Question Number : 72 Question Id : 25498912527 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following pollutes the air of big cities?
Options:

1. = Copper



2. % Chromium
3. % Lead

4. * Calcium

Question Number : 73 Question Id : 25498912757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

1. ¥ pedia

2. ¥ glh!

3. ¥ sefieq

4, ® fag

Question Number : 73 Question Id : 25498912757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With which of the following games is Dhyan Chand's name associated?
Options :

1. * Football

2. ¥ Hockey

3. ¥ Badminton

4. % Tennis

Question Number : 74 Question Id : 25498932500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The apex organisation for marketing co-operatives of agricultural produce at the national level is:
Options:

1. # FCI

2. ¥ NAFED

3. * National Co-operative Union

4. # National Agriculture Marketing Board

Question Number : 74 Question Id : 25498932500 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

AT TR W HiY IATET & GgehRt fAuur g M’ Hirs i 41 872
Options :

1. % FCI

2. ¥ NAFED

3. # T UghRt 99

4. ¥ e oY fague I

Question Number : 75 Question Id : 25498932573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following provisions of the Indian Constitution is adopted from the Irish

Constitution?

Options :

1. # Parliamentary Form of Government

2. * Principles of Liberty, Equality and Fraternity
3. ¢ Directive Principles of State Policy

4. % The idea of Residual Powers



Question Number : 75 Question Id : 25498932573 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Summer camps are supervised camps conducted to entertain as well as equip students with
various life skills such as teamwork, socializing, decision making, independent and
responsible living and more. It aids the overall development of a child and children have fun

during this process as they get to explore new arenas.
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Everyone knows that running is a great way to get into shape, it also can benefit almost
every part of your body and lift your mood. Whether it is your favorite part of the day or
something you have to push yourself through, the benefits are fabulous. The next time you
are thinking of skipping a run, think of these reasons to maintain your routine. Regular
running offers many health benefits. Running can help to build strong bones as it is a
weight bearing exercise It also strengthen muscles, improve cardiovascular fitness, burn
plenty of kilojoules and help maintain a healthy weight. Running improves your health.
Believe it or not, running is a great way to increase your overall level of health. Research
shows that running can raise your levels of good cholesterol while also helping you increase
lung function and use. In addition, running can also boost your immune system and lower
your risk of developing blood clots. It Prevents Disease. Running can actually help women to
lower the risk of breast cancer. It can also help reduce the risk of having a stroke. Many
doctors today recommend running for people who are in the early stages of diabetes, high
blood pressure and osteoporosis and it is proven to help reduce the risk of having a heart
attack. By helping the arteries maintain their elasticity and strengthening the heart, your
chances of suffering a heart attack can be reduced. You Might Lose Weight. Running is one
of the best forms of exercise for losing or maintaining a consistent weight. You will find that
it is a leading way to burn off extra calories and that it is the second most effective exercise
in terms of calories burned per minute, following only after cross country skiing. Running
Boosts Your Confidence. Not all of the benefits of running are physical. Running can provide
an unexpected boost to your confidence and self esteem. By setting and achieving goals,
you can help give yourself a greater sense of empowerment that will leave you feeling much
happier. It Relieves Stress. Stress can actually cause a number of health and mood problems.
It can also diminish appetite and sleep quality. When you run, you force your body to exert
excess energy and hormones. Running also helps to reduce your chances of developing
tension headaches. Running has the Power to Eliminate Depression. When you are
depressed, the last thing you likely want to do is to get up and go for a run. You will also find
that after only a few minutes of running your brain will start to secrete hormones that
naturally improve your mood. There are few things in the world that can better or more
rapidly treat depression than exercise such as running. Running is very beneficial to the

body, mind and spirit. You will find that even short runs can leave you feeling more



energized and more focused and better able to enjoy all that life has to give.
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